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General Instructions ;
There are two sections in this question paper:
1. Section A - Introductory Macroeconomics (40 Marks)

Section B - Indian Economic Development (40 Marks)
2. Marks of questions are given against each question.
3. This question paper also contains case/source based questions.
4. Questions No. 1 - 10 and Question No. 18 - 27 are objective type questions carrying 1 mark each and
to be answered in one word or one sentence.
5. Question No. 11 - 12 and Question No. 28 - 29 are very short answer type questions carrying 3 marks
each, to be answered in 60 to 80 words.
6. Question numbers 13 - 15 and question numbers 30 - 32 are short answer type questions carrying 4
marks each, to be answered in 80 to 100 words.
7. Question numbers 16 - 17 and question numbers 33 - 34 are long answer type questions carrying 6
marks each, to be answered in 100 to 150 words.
8. Answers should be brief and to the point and also adhere to the above word limit as far as possible.

Q T3 37 - URTFHS AT 3remes Mar
N. Section A - Introductory Macroeconomics ks
T. 3h
3.

1 | Which of the given pairs is incorrectly matched?




Column |

Column I

A. Non-durable
consumer goods

(i) Goods that are used-up in a single act of consumption.

B. Capital goods

(i) Goods used as fixed assets by the producers in the
production of other goods and services.

C. Consumption
goods

(iii) Goods which are not used in the production of other
goods.

D. Final goods (iv) Goods which have not yet crossed the boundary line of
production.
(a) A-(i)
(b) B-(ii
(c) C-(iii)
(d) D-(iv)
w a1 At #F F et 37T AT 2
TdFA | TIFH
A . IR RF1Z 3UHFAT (i) I TEIT ST Tehol TN H FATCA &1 STl & |
N
B. YT a& U (ii) 31 FEI3AT 3R YaT3HT o 3cUTe H ScuTeeh! SaRT
&YX Ul & &9 H 39T 1 ST arell a&u|
C. 39817 aEJV (iii) & TEU TSToTehT ST 31 TEG3T o Scureet & A8
T ST 8
D. 3ifad g&qu (iv) TEGU fSiwglet 3180 ek ScdTeeT T HAT @M &l IR =TT
fRar gl
(a) A-(i)
(b) B-(ii)
(c) C-(iii)
(d) D-(iv)

Find out the correct match of the following:

Column

Column 1l

people

1. Government increases taxes on very rich

(a) Reallocation of resources

2. Government increases its own expenditure
during deflation to increase aggregate demand

(b) Economic stability




(c) Reducing inequalities in
income and wealth

(@ 1-(),2-(c)
(b) 1-(c),2-(b)
(c) 1-(a),2-(b)
(d) 1-(a),2-(c)

OR
Read the following statement -Assertion (A) and Reason (R). Choose one of the correct
alternatives given below:
Assertion (A): Government tries to establish economic stability by its budgetary policies.
Reason (R): During inflation the government can bring down aggregate demand by
reducing its own expenditure.
Alternatives:
a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation
of Assertion (A).
b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A).
c) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.

RArAfaf@d # & @l Ao A oifew:

TdFA | EAFA

1. THR FATAH AT ol W) g Terdl 8 (a) FHTUEAT &I Ga: s

2. TR IITHIT AT FAfd 7 AT AT I | (b) 3T E2Rar
& T & SR 319 <9 Ferdr §

c) 3 3R U ¥ 3 GHAT3T FT 5T
FAT|

(@ 1-(b),2-(c)

(b) 1-(c),2-(b)

(c) 1-(a),2-(b)

(d) 1-(a),2-(c)

3ryar
Afaf&a U= &1 96 - 3MARTA (A) 3R FROT (R)| T G0 970 faehent &7 & T@@r Ahed
gfAv|
ETF?IEQJH(A) DR 3T TSI AT GaRT 3T FEURAT ITed Flel 1 IITH o |
HROT (R) : HETEHIT & GR1 TR I S Y o FI& THIT AT FY FH FT Tl §
ﬁwq-
a) 31fHHYUT (A) 3R FROT (R) T T & JR FROT (R), 1THRUT (A) Fr T earear g
b) 31fRHU (A) 3R FROT (R) a1 T § 31 HROT (R), 31fRFpyT (A) Fr T carear 87 g
c) 31fAFHYT (A) T § ifehed FROT (R) 31T B
d) ITAFRYA (A) 3T § ifehed HROT (R) T &




If the marginal propensity to consume is greater than marginal propensity to save, the
value of the multiplier willbe .................. . (Fill up the blank with correct alternative)
(a) Greater than 2

(b) Less than 2

(c) Equal to 2

(d) Equal to 1

I HreAiet 39ster ygfey, WATd o ggfar & AR ¢, AUk F AT ... gram|
(ﬁﬁ?ﬁlﬂﬁﬂﬁmﬁﬂﬁ'@)
(a) 2 4 A&F
(b) 2 H &HA
(c) 2 N
(d) 1% SRTET

Ms. Nikita, an Economics teacher, was discussing the concepts of following with the
students.

“Make in India programme will cause rise in of foreign exchange and hence
in the current balance of payment situation of the country.”
(Fill up the blank with correct alternative)

a) Supply, degradation

b) Demand, improvement
c¢) Supply, improvement
d) Demand, degradation

3reemes Y et gt faferem RamRiat & arr forest sraeron o ==t a2 @ i

"Heh 51 Sf3aT e e aer H gefe T HROT T3 3R ST A &
T ST Tloled 1 RUfT &~ gvanghom (e 41T & &Y
fReeq § siw)
2) ¥ e
b) AT, FUR
c) qfd, gur
d) &, fRTae
Identify the correct pair from column | and II. (Choose the correct alternative)
Column | Column Il
A [Open market operations | (i) [ Component of fiscal policy
B |Margin Requirement (ii) | Minimum ratio of total bank deposits which
they have to keep with themselves
C |Banker’s bank (ii) | Function of Central Bank
D [Reserve Requirement (iv) | Sale and Purchase of Securities
Alternatives :
(@) A-(i)
(b) B - (ii)
(c) C - (iii)
(d) D - (iv)

Prord | 3R 11 T FET NS A T FL| (FET TAheT T T )




icTe | el I
A | Gel aTeTR T TRt (i) TSR Aifd & g
B | @A 3maThdre (ii) Fe Sleh STHTIHT T wGATH TefaTct
ST 3o 39el 91 TG 8l & |
C |Swtards (iii) HET oo T
D | 3fRi&Td 3raRgehdr (iv) wfcregfaat @ fosht 3R @l
ICETZ K
(@ A-()
(b) B - (ii)
(c) C - (i)
(d) D - (iv)

Which of the following is an example of capital expenditure of the government?

(Choose the correct alternative)
(a) Expenditure on the acquisition of land, building, machinery and equipment.
(b) Investment in shares.
(c) Loans and advances by the central government to state and union territory
governments, PSUs and other parties.
(d) All of the above.

AFATATET A A et AT AHR o YieTed ST T Teh 3GTEIVT 572

(TEY Taehed T FoTra )
(a) 3, #7aeT, FML 3R ITOT T TG W 4|
(b) T F AT
() g TR SaRT Ty 3R g AT Feer TR, Nowy 3R 31 arfet &l 0T 3
YA T |
(d) U ||

Read the following statements carefully:

Statement 1: Autonomous investment increases with increase in the level of income in an
economy.

Statement 2: Induced investment changes with change in the rate of interest and income
level in an economy.

In the light of the given statements, choose the correct alternative from the following:

a) Statement 1 is true and statement 2 is false.

b) Statement 1 is false and statement 2 is true.

c) Both statements 1 and 2 are true.

d) Both statements 1 and 2 are false.

AT FUAT I &1 F U6

YT 1: TRl 3eaae T & 317 & TR A Jeft & Ty T [Haer 961 8|

FeT 2: TR 3rdfegaer F ORT e, sATeT &7 X 3T 3T & TR H gRadeT & 91y
gRafda giar g

U 37T FUAT & 3Telied H, AT F T TET [Ahed &l TI= HIfAT:




a) YA 1 T g 3R YT 2 3T ¢
b) U 1 3T g IR FUT 2 AT &
c) FUT 1 3R 2 1At T &1

d) FUeT 1 3R 2 =t 3@

Identify the correct pair of formula from the following column | and II:

Column Column i
|

A |Capital Account Surplus 0] Capital account inflow < Capital
account outflow

B [Current Account Surplus | (i) Current account inflow > current
account outflow

C |Balance Current Account | (ii) | Current account inflow # Current
account outflow

D |Current Account Deficit (iv) | Current account inflow < Current
account outflow

Alternatives:
(@) A-(i)
(b) B-(ii)
(c) C-(iii)
(d) D-(iv)J

Hierd | 3 1| & &Y T3 Y IgaTeT i
FIcTH | - Frad Il

it @ 31Ty ) IS EIAT 3edi9arg < Yoil Wil Sed9dig

(
EGEEIGIRIERLY (i) | e WIAT Hed9dTg > dTe] Wil Seqvaig

[ITe] TTAT Hclolel iii)  [aTel @I 3fecRYdTg # TTe] Wl SEAYATE

O|0O|w|>

el @I |TeT iv) [OTe] WTAT 3{ecRYdTg < TTe] Wl SEAIdTE

IGE Tk
(@) A-(i)
(b) B~(ii)
(c) C-(iii)
(d) D-(iv)

Choose the correct alternative to be filled in given blanks A and B.

Decrease in |
Bank Rate

a) Rise in Supply of credit by the commercial banks, Money Circulation will decrease.
b) Fall in Supply of credit by the commercial banks, Money Circulation will decrease.
c¢) Rise in Supply of credit by the commercial banks, Money Circulation will increase.
d) Fall in Supply of credit by the commercial banks, Money Circulation will increase.

T aTT Refed TTT A 3R B # 8 & ToIT GET faehed o1 |




b &=
o et

P
a) aTOISTe dohi aRT A1 1 qic # Fefd, FaT Hereled H HeAT 3TN |
b)aﬁ%aa?a‘a#aamwﬁqﬁﬁm mmﬁmﬁwﬁl

c)aﬁmaﬁmwﬁqﬁ#aﬂ% mmﬁmg’nﬁl
d)aﬁmaﬁmwﬁqﬁﬁm mmﬁmﬁ?m

10 | Read the following statement -Assertion (A) and Reason (R). Choose one of the correct
alternatives given below:
Assertion (A) ;The monetary policy is a policy formulated by the central bank.
Reason(R); This policy involves measures taken to regulate the supply of money,
availability, and cost of credit in the economy.
Alternatives:
a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation
of Assertion (A).
b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A).
c) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.
AT FUA I UG - ITABYA (A) 3R SROT (R)| A GT 910 Tashent 7 & T&T Aheq
gfAv|
HiFvaere (A): HIRE N, 3T ¥ canT AR B W AT

HROT (R) : 58 ey 7 3reqaeyr H HaT 1 e, 3Teretrdm 3R 0T &I ofrerd i [afafad

et oh Tolv fohUT 97T 39T enfde &1
ICEToF
a) ATAFHY (A) 3R FROT (R) et AT § AR FROT (R), 3IfHFHYT (A) FT & T gl
b) 31fRHUT (A) 3R FROT (R) AT T § 31 HROT (R), 31TRFHUT (A) Fr T carear A8 gl
c) 3fAFUT (A) T § afhad HROT (R) 30T &
d) 31ffwYs (A) 38T § Afhed SROT (R) TT £

11 | Explain in brief the function of the central bank as "Banker's to the Government".

OR
‘Money resolves the issue of double coincidence of wants’. Justify the given statement,
using a hypothetical example.
"FREPI I deh" o T H hg I sich oh 1l T H&TT H TASTST|
3gdar
HT "HTGLGehdl & algt HATIT" hT FHEAT T §ol Il &' | Teh HleUieleh 3GTEIUT I TATIT
I BT forw 1w eyt i gfte A
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Read the following News Report and answer the question that follow:

Owing to a strict nationwide lockdown due to the novel coronavirus (COVID-19) during
the bulk of the first quarter of the financial year 2020-21, India’s Gross Domestic Product
(GDP) for the April-dune quarter (Q1) slipped by a sharp 23.9 percent, as per provisional
estimates released by Ministry of Statistics and Programme Implementation (MoSPI) on
Monday. The GDP had expanded by 5.2 per cent in the corresponding quarter of 2019-20.
The June quarter GDP data is the worst contraction in the history of the Indian economy
mainly because the central government on March 25 had ordered a complete lockdown of
most of the manufacturing and service sectors owing to the spread of COVID-19. Only
essential services such as food items and medicines were allowed during this period as
the country tried to curb the spread of the virus across the country. The GDP for the
preceding January-March quarter (Q4) of 2019-20 had witnessed a growth of 3.1 per cent.
As per the government data, the gross value added (GVA) at basic price at constant prices
during the June quarter shrunk 22.8 per cent. The GVA at Basic Price at Current Prices
slipped 20.6 per cent in Q1 2020-21.

Question

(i) “India’s economic growth slips 23.9% in Quarter 1 of 2020-21."Which of two — Nominal
GDP and Real GDP— measures economic growth more correctly? Give reasons in
support of your answer.

(ii) “As per the government data, the GVA at constant prices during the June quarter
shrunk 22.8 percent. What will be its effect on the welfare of people of the country? Give
reasons.

RAerfaf@d gamar RaE o1 ¢ 3k Aeafaf@d v &1 39w e:

faeir a¥ 2020-21 &1 Tgel fAARET & SRIA PRIATERRA (FfIs-19) & FRUT Th T&d
ST FAlehsI3T & HRUT, 3¥el-fsT [AATET (Q1) & foT wifeashr 3R Friswa Freade
W(MoSPI)WW&#EﬁHﬂﬁHW%W IR T Hehel TXe] 3cU1G
(GDP) 81 23.9 gfaerd & fhaer a=iT| 2019- 2o%s¢ﬁﬁw€rﬁwmmﬁ52
Qﬁ%maﬁraafﬁaézﬁ|aﬂﬁﬂl€r$m¢rmwwwmavgﬁmﬂﬁmw
FereleT ¥, iR Srg; T o¥ 25 HI 1 HAS-19 35 FAR 35 FHROT Jferamer AFHOT 317 Far
Mﬁﬁmﬁﬁmﬂmrmmlsﬂméﬁqum had LTS HAT3HT I FieT
wﬁﬁmﬁ@rmaﬁaﬁﬁ?é{%rﬁ@é&rﬁqmwé?%l{ﬁ(lchd T Ffrer v off|
2019- 2oaﬁrqéa?ﬁaaafrm-ér%m€r Q4)$ﬁtrmui?~r3—m#31qﬁramaﬁraaf€r
ara’rméamwr&ma:mm aﬂﬁmémﬂmmwﬂﬁmwm
o g 3haﬁv)228®14€ra€mﬂﬁa€r®naﬂ¢mmwsﬁﬂh2020 21 $r ggelr
ﬁﬂré’rﬁ2069ﬁ2mﬁmﬁ?ml

g ;

(i) "2020-21 ¥ gl TAATE 3 8 hr 3TYes gefer 23.9% ot g 1" Hifga g 3l
aTETa SNET - At & A et 3T e &1 37T0% E & HYT &2 9 3o F GHIA
#H FRoT QAT

(ii) “BXPRY 3HTehsT & HTAR, e TTATET o aRTeT [EUT hreAdt oX Sl 22.8 wfcerd ge ar |
SHDT ST & AN o heATUT T FIT YHIT USM? HROT ST |

1.5

1.5
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In an economy, the autonomous investment is ¥360 and the marginal propensity to save is
0.3. If the equilibrium level of income is %1,400. Find autonomous consumption.

OR
Covid-19 has significantly impacted the income level of the households and thus have
reduced the level of household and investment expenditure and thereby the level of AD.




Examine the economic implications of increase in government investment expenditure
when the economy is in a state of depression.

Teh IeaeT H, T f@der 360 & 3R AAid sod Ygiy 0.3 &1 I 317 T Folel TR
1,400 | TR YT AT HITT|

37ear
FITAS-19 & IEEAT & 3T T Hl SeaWalld & § FHTTAT FHAT § AT B-e] e 3R foder
T % TR P TR | S TehI T 79T T T b Tl & | ST IrTcaaeT 7T &1
ety 71 gr o TReprdY fAaer saar 7 gefer & 3nfies yerra o1 wdveror AT

14

The following figures are based on budget estimates of the Government of India for the
year 2001 — 2002. On the basis of these Calculate the following -

i) Fiscal Deficit i) Revenue Deficit and iii) Primary deficit.
ITEMS RS. in BILLIONS
A) Revenue receipts 2,31,745
i) Tax Revenue 1,63,031
i) Non-tax Revenue 68,714
B) Capital receipts 1,43,478
i) Recoveries of loans 15,164
ii) Other receipts 12,000
iii) Borrowings and other liabilities 1,16,314
C) Revenue 3,10,566
expenditure
i) Interest payments 1,12,300
i) Major subsidies 27,845
iii) Defence Expenditure 1,70,421
D) Capital Expenditure 64,657
E) Total Expenditure 3,75,223
i) Plan expenditure 1,00,100
ii) Non-plan expenditure 2,75,123

ATl 31iers a¥ 2001 - 2002 & AT HR THR o ToIC HTHTAT IR TR & |
FeToh YR I e T 07T &1 -
i) ST TTer i) Terea arer 3 iii) grarfae arer




faazor Y 3RE H
A) TrerEg gifeaar 2,31,745
i) Y IreTEd 1,63,031
ii) IR TeTET 68,714
B) Yaiteret grfeean 1,43,478
i) SOT T agelr 15,164
ii) 37T grfcaar 12,000
iii) 3UR 3R 3T SagTRAT 1,16,314
C) otEd gy 3,10,566
i) STTST Tl 1,12,300
ii) T Aiedsy 27,845
iii) Y& I 1,70,421
D) Yotrerd g 64,657
E) el cay 3,75,223
i) IISTeT T 1,00,100
i) IR-TST=TT g 2,75,123
15 [ (A) How is the foreign exchange rate determined in a free market? Explain with a diagram.
(B) Giving reason explain how the following will be entered in (i) Current account or capital
account and (ii) on credit side or debit side of balance of payments:
a) Imports of machinery.
b) Investments from abroad.
(A) FF oo & fagel fafeera &3 & efRa gl 872 3m@ garr vuse Hifw|
(B) STROT FlTcl §U T T fe=A Qe o (i) Te] Wi a1 Yoft Ter R (i) 3T3TcA1eT HJelol B
shfsc 9aT a7 STc et #, A gof fohdT SITeaT|
a) FATL T AT
b) facer & fAaer|
16 | (a) - Given the following data, find the missing value of ‘Government Final

Consumption Expenditure’.
Particulars

S. No. Amount




(in¥crores)
(i) National Income 71,000
(i) Gross Domestic Capital Formation 10,000
(iii) Government Final Consumption Expenditure ?
(iv) Net Factor Income from Abroad 1,000
(v) Net Indirect Taxes 2,000
(vi) Profits 1,200
(vii) Wages and Salaries 15,000
(viii) Net Exports 5,000
(ix) Private Final Consumption Expenditure 40,000
(x) Consumption of Fixed Capital 3,000
(xi) Operating Surplus 30,000

(b) Will the following factor incomes be included in domestic income of India? Give
reasons for your answer.
(i) Compensation of employees to the residents of Japan working in the Indian embassy in
Japan.
(i) Profits earned by a branch of foreign bank in India.

OR
(a). Sales of petrol and diesel cars are rising particularly in big cities. Analyse its impact
on gross domestic product and welfare.
(b) Explain (i) how income is a flow, and (ii) How is the flow of income is circular?

(a) - ﬁmﬁr@amm TR TAH 3TN I T ATH AT hfoIT|

HHTR aor afer
((EREE:)
(i) TSErT 31T 71,000
(ii) e T il feriroT 10,000
(iv) facer & e R 3 1,000
) /[ 3THcTET T 2,000
(vi) ikl 1,200




(vii) 3 3R i 15,000
(viil) e fevard 5,000
(ix) FeISiT ST S8iter sa 40,000
(x) FT it 3 ST 3,000
(xi) EREEEIER 30,000

(b) AT THFATATE T ke T T R T Bl 3T H AT SATTIT? 39 31 & foarw
FROTS|
(i) ST 3 R ARART gATare 7 RN ST & farelt smetariRar & arfagfd|
(ii) R 7 Tacel S T T emaET ganT 3fTd aret |
3rerar
(a) 3 AT I USlel 3R SIoTel HRT T [T I T &1 Hebol B 3cU1G IR FHoAT0T W 38
JHTT T TAReITOT Y|
(b) THSATT (i) 3T HE Teh UdTg g, AR (i) 3T T JdTg Th1T Hd g2

17

Read the diagram carefully and answer the following questions given below.

AS=C+S

AD

o)

Y
National Income/Output/Employment

i) Is the economy in equilibrium when it is in the shaded situation?

i) What does the situation (AD > AS, AD<AS or AD=AS) represent the shaded portion of
the Economy?

i) Write the adjustment mechanism to correct this situation.

iv) Name the point where the Economy is in equilibrium.

IR FH LTI Ifer 3R A T 1w weat & 3¢ Qifaw|




AD

AT 311/ IATE/ ISR

i) Srgifehe FEUfa # glet o) T Jrdfeaaedr Tore # g2
ii) 37T & BTHifehd fded &t T FEufd (AD > AS, AD<AS a1 AD=AS) gaiTdr 72
iii) 38 FEUfY Fr S et & T FETAST a7 faf@v|

iv) 39 1Sig T /13 IATST STeT 3reqae T Hferl # ¢

W3 § - IR 3degaear & s

Section B - Indian Economic Development

18 | Arrange the following events in chronological order in context of the Indian Economy.
(i) Introduction of second phase of the green revolution.
(i) Setting up of the Karve Committee for encouraging rural development.
(iii) Setting up of the Planning Commission.
(iv) Introduction of the New Economic Policy.
(Choose the correct alternative)
(a) (iii) (iv) (i) (ii)
(b) (i) (ii) (iii) (iv)
(c) (iv) (ii) (i) (i)
(d) (iii) (if) (i) (iv)
AR 3reaaedn & Hest # fAraAfafla st i e A s 7 saafeyd wi:
(i) B8R SHifer & qEY =0T T URFH |
(ii) FTHTOT faehra &1 GicaTigd et & fort o GfAfa dr wume|
(iiii) TYSTAT 3TTIIT T TATIAT|
(iv) 778 3TTieh ey hr Q3T |
(TEY T T FaTra )
(a) (iii) (iv) (i) (i)
(b) (i) (ii) (iii) (iv)
(c) (iv) (ii) (iii) (i)
(d) (iii) (if) (i) (iv)
19 | On the basis of the below mentioned information answer the following question:

The share of Poultry is percent more than the sum of cattle and flock.
(Fill up the blank with correct alternative)




Slee 3] Pig
e, [ l:_!.ml B _:-h:l-
Lrals 1%

Catlle and
Bulaks
T

a) 45%
b) 39%
c) 23%
d) 22%
T &Y 918 SATABPNRT o IMUR TN AFATATET T2T 3T 37K o
1T aTeret 1 foEar HARAT 3R SRt g5 & AT A gfaerd 3ifee B
(Rerd TareT &1 T Tashed & #RW)
arE 6.1 WA W A Ure ot famwor i
qgIEd, 2012
=)

e,
e,
crals!
Beted
ot

fale!
ety
ool
)

'
%
&
*0
4
{0
<
&
&
bt

2
e
i
S
o
2
2%
L
S

75
L8
R
o]
e
oo
o83
ot

Ty
o
3%

2
el
5
0

0
&

29T U fErvrtsr, HfY w5, YRa TR

a) 45%
b) 39%
c) 23%
d 22%

20

If new computers are being installed in a company and some employees are fired from the

job due to lack of computer knowledge, then what kind of unemployment will it be called?
(Choose the correct alternative)

(a) Disguised unemployment

(b) Structural unemployment

(c) Hidden unemployment

(d) Frictional unemployment




e el shell H AT ShegeX oaNT ST ¢ & AR Ho HAURAT 3l HegX AT T AT o HROT
mﬁﬁaﬁﬂmm% ar sa fFg vk T AT FET ST
(TEY Tdshed ol FaATd )

21

The government of India enacted the right to Education Act to make free education a
fundamental right of all children in the age group of..................... years.

(Fill up the blank with correct alternative)
(a) 5-13
(b) 6-12
(c) 6-14
(d) 5-14
ART TR A oo, a¥ & 3y 91 o T arel o forw Fwr RIaw 1 il
SHRIFR FeTleY ¥ fAr e 1 31faa srfafaes sara) (Rt T 1 WY
faseT @ #RT)
(a) 5-13
(b) 6-12
(c) 6-14
(d) 5-14

22

Read the following statements carefully and choose the correct option

Statement 1: Human capital benefits not only the owner but also society in general.
Statement 2: Human Capital and human development are similar terms.
Alternative;

a) Both statements 1 and 2 are true.

b) Statement 1 is false and statement 2 is true.

c) Statement 1 is true and statement 2 is false.

d) Both statements 1 and 2 are false.

AT T FUAT T & F 96

Y 1: ATAT Yoil o1 el 3Tk TATH T SToh AHAT T F AT I 3ff erenfead Fcr |
YU 2: AT Yoil 3N AT fahrd 1 Teh FATH 378 &

U 31T HUAT & 3Tellsh H, Afaf@d § & T&r Ahed &1 93 HIfAT:

a) HUA 1 3R 2 Q= T £

b) YT 1 31T ¢ IR YT 2 T T ¢

c) HUA 1 T g 3R FYT 2 3 T@T ¢

d) U 1 3R 2 gt 3T €

23

Which of the following statements correctly represents actions taken by the government
towards liberalization

P: Levying high tariffs to discourage imports and promoting the consumption of domestic
goods and services.

Q: Devaluation of the rupees to encourage inflow of foreign exchange.




R: Allowing for private banks to make decisions independent of the RBI restrictions.
S: Fixing prices of certain industrial goods in order to support increased consumption of
these goods to boost the manufacturing industry.
(a) P and Q only
(b) P and R only
(c) Qand R only
(d) Q and S only
OR
Read the following statement -Assertion (A) and Reason (R). Choose one of the correct
alternatives given below:
Assertion (A): During British rule, India saw a huge drain of wealth.
Reason (R): India generated a large export surplus during the period.
Alternatives:
a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation
of Assertion (A).
b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A).
c) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.

AFATATET & @ Sl T FHYUA IEHOT I AT H TIHR GaRT 33T T FHGHT Hl Fel
gfafaftica #d gl

P: 3T o gellcaieed it 3R el aEI3T 3R a3t & 3TSHIT T dgrar ot o forw 3=
WAW’FW|

Q: faef HeT o 3iecidls T AR et & T 39 HT IaH g |

R: fSir dfont &t 3TRT3NS & ufasell & Tada Ao o 1 segafa|

S: TaferafoT e 1 FgTaT &9t & T 31 T3t & Tad ST H T F ¥ T IS
3ieTiTen aEq3it T hrAT T AT

(a)%hael P and Q

(b) Shaer P and R

(c)Haer Qand R

(d)%aer Qand S

372qar
AT FUA I UG - ITABUA (A) 3R SROT (R)| A fGT 310 TAshent 7 & T&T Aheq
T
3THFRYT (A) : ToTEeT TEsT & SR, AR & TYGT T Teh 93T fdhrr ¢dT|
FROT (R) : IRA 38 3G & SR Tah 937 [T 1AV e fomam|
ICEToF
a) ATAFHY (A) 3R FROT (R) &t AT & IR FROT (R), 3fHFHYT (A) FT & &A1 8 |
b) 3TAHT (A) 3R FROT (R) alAT T § 3R HROT (R), 3THFUA (A) FT TE T 7181 ¢ |
c) ATHFRYT (A) T & eifehed HROT (R) 31T g
d) 31fAFHUT (A) 38T § Afched HROT (R) TcT &
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Arrange the following events in chronological order and choose the correct answer from
the given alternatives:

(i) Establishment of the People's Republic of China.

(i) Establishment of Pakistan.

(iii) First Five-Year Plan of India.




(iv) First Five-Year Plan of China.
Alternatives:

(A) (i), (iv), (i), (iii)

(B) (iii), (ii), (i), (iv)

(C) (i), (i), (i), (iv)

(D) (iv), (iii), (ii), (i)

AT T3 &l Frellefshides Ha H SFAEYT HY R QT 7T fehedl 7 & HEr 3R
el

(T) A AT IRTS Y FATIAT|
(i) ITfeREATsT ST faToT|

(iii) R FT Igell TIAUIT JroTeT|
(MEGEIRFEIRPENPERICTI
ICETRR

(A) (i), (iv), (ii), (iii)

(B) (iii), (i), (i), (iv)

(C) (i), (i), (iii), (iv)

(D) (iv), (iii), (i), (i)

Read the following text carefully . Answer question number 25 - 28 on the basis of
the given text and previous-understanding.

fArafaf@a a1z it eareqds afeu| G 1w argy aar qa-wast & 3R 9 9o §&ar 25 -
28 &7 3R eS|

Agricultural marketing is mainly the buying and selling of agricultural products. In earlier
days when the village economy was more or less self-sufficient, the marketing of
agricultural products presented no difficulty as the farmer sold his produce to the
consumer on a cash or barter basis.Today's agricultural marketing has to undergo a series
of exchanges or transfers from one person to another before it reaches the consumer.
There are three marketing functions involved in this, i.e., assembling, preparation for
consumption and distribution. Selling any agricultural produce depends on some couple of
factors like the demand of the product at that time, availability of storage etc. The products
may be sold directly in the market or it may be stored locally for the time being. Moreover,
it may be sold as it is gathered from the field or it may be cleaned, graded and processed
by the farmer or the merchant of the village. Sometimes processing is done because
consumers want it, or sometimes to conserve the quality of that product. The task of
distribution system is to match the supply with the existing demand by wholesaling and
retailing in various points of different markets like primary, secondary or terminal
markets.Most of the agricultural products in India are sold by farmers in the private sector
to moneylenders (to whom the farmer may be indebted) or to village traders. Products are
sold in various ways. For example, it might be sold at a weekly village market in the
farmer's village or in a neighboring village. If these outlets are not available, then produce
might be sold at irregularly held markets in a nearby village or town, or in the mandi.As we
have a tradition of agricultural production, marketing and allied commercial activities, now
it is the time for us to brainstorm and come out with new ideas of value added services.
These value added services will give the existing agricultural engine a new dimension.
The next logical step could be food-processing which not only could be another revenue
generating area but also can provide lots of full-time employment to our youths. With the




changing agricultural scenario and global competition, there is a need of exploiting the
available resources at maximum level.

Source: h www.domain-b. ri re/20040713_marketing.html
aﬁmﬂmmﬁﬁmﬁaﬂam%ﬁh%ﬁ%ﬁ?ﬁﬁmmymm
FHANAL HTHTNIT A, P STt 35 RTOTe 3 P FHITS FF g o Fiify et 3wty
mﬁmﬂwﬁmmm%ﬁw%mwﬁmm%mﬁﬁmﬂﬁ
wﬁwmqﬁﬁ@qﬁwﬁﬁqﬁﬁaﬁmwmmﬁwm
W IO TS & | ST T RGO T N &, 37y Heoret, 3TV ¥ Sy 3 e
maﬁaﬁfﬁrsqd afrqudlmdwlwlwﬁéﬁ?m%ﬂﬁwmmaﬁﬂm $SRUT &Y
Waﬁlmﬁmmﬁa‘mmmﬁmgﬁmmiﬁmmwﬁ
FIEId T ST GohdT §1 ST 3TeTaT, wmﬁmmﬁmaﬂmm%msﬁ
TohaTeT 1 3ila o SATIRY aRT A1, defiched A FATTET fahar ST T & | et geEnor
sﬂﬁvﬁmm%a@’rﬁ:sqawws@wsd% 1 3Nl 37 ScTe; T 0T T FITEIT
FeT & T | FATROT JoTTelT T 1 IrrfAeF, aﬁﬁwmméﬂﬁfﬁﬁrméﬁfﬁﬁr
Rigait #F 2N 31 ey Rishr qamr Alefar #19T 3 @rer Gfet 7 erTet T &1 3Rt 3 Hfreprer
FY 3curg el a1 # framat qanr (ForerenT TendTeT 10T §1) AT 1Mo SATITRET T ST
ST & Seure fafdiest adie & 3 s ' - 3ETE0T & foIv, 31 fhaTa & 91d & ATeares
ISR & IT YE1HY 37T & ATCATfgeh ISR 3 ST ST Tohd & | I A I9IR 3T 81 &, ar
39S &I U & 317 AT HEs AT HS H ATAATAT & F M SToIRT 7 9= 31 FehaTl ¢| Gfeh
§AR U HTY 3cUles, fauore AR Faey anurfeas aiafafedt i W g, 379 T8 §AR fIT
W%ﬁaﬂmawd &1 3R AT aﬁa@m&ﬁ%mﬁaﬁ%m@:mmmm
aftia qart Alsier $ g I Teh 77T 3TATH 3| 379TeT Tfehep *qamws’r
W%Eﬁﬁéﬁﬁ@ﬂuam ool e qmla?i'ara’faqwm%mw%ﬂﬁwﬁaﬁaﬁ
R qUTshIToleh USR8 YeTel T Hevell ¢ | S etd a?ﬁqmu}ﬂ'{%f‘aa?mﬁé?ma
SIS FATEI=AT T HTAeH TR TR gl FIoY T HTARTReT &1

Source: http://www.domain-b.com/economy/agriculture/20040713 _marketing.html
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Which of the following is NOT the functions of agricultural marketing?
(Choose the correct alternative)
a) Assembling
b) Processing
c) Distribution
d) procurement.

A f@a & @ it T AT =1+ 787 82
(TEY Tdshed ol FaATd )
a) HIET
b) THEHIOT
c) faaor
d) agelr
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Read the following statements carefully and choose the correct alternatives given below:
Statement1. Majority of Agricultural produce goes to Village traders.

Statement 2. Agricultural marketing is a process that involves the Soil preparation, sowing,
Manuring, Irrigation, Weeding, Harvesting of different agricultural commaodities.
Alternatives:

a) Both the statements are true.

b) Both the statements are false.

c) Statement 1 is true and Statement 2 is false



http://www.domain-b.com/economy/agriculture/20040713_marketing.html
http://www.domain-b.com/economy/agriculture/20040713_marketing.html

d) Statement 2 is true and Statement 1 is false.

AT TEd FUAT I €T F U 3R =T few 31w faswedt & & Tgr [ahed T g Y ;

YT 1. AR HIY 39T 1A AT & 9 ST & |

FUT 2. ﬁﬁwwmm%mﬁmﬁm gars, @re, s, s, fafdesr
mawﬁﬁamé%m%‘l

a)a’la’raau?ra—a%|

b) &Y AT 3T &

c) HYA 1 T § IR T 2 AT ¢
d) FUT 2 T & 3R FUF 1 30T B
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Read the following statements - Assertion (A) and Reason (R). Choose one of the correct
alternatives given below:

Assertion (A): Food processing can be a next game changer in agriculture.

Reason(R): In view of Global pressure we must utilize our resources to the brim.

Alternatives:

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation
of Assertion (A)

b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A)

c) Assertion (A) is true but Reason (R) is false.

d) Assertion (A) is false but Reason (R) is true.

frAfafd U 1 U - 3fAFUT (A) 3R FROT (R)| = T 10 epeat & & T [Aveq
gfAT|

WW(A) T THERIOT, Y H 33T STl TeTeet arell Wel &1 TehcT 8
EFITUT( ): mmﬁmﬁwaﬁmmwwmmm|

a) mm (A) 3R SROT (R) gt T & 3R HROT (R), 31TARUT (A) T TET Ar&am g

b) 31fRHU (A) 3R FROT (R) AT T § 3R HROT (R), 31fRHUT (A) Fr T carear g1 gl
c) IfRAFUF (A) TT & fdhet FROT (R) 38T &

d) 31ffwYsT (A) 318cT § Afhed FROT (R) TT £
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What are the main problems in agricultural marketing?

Y fauuTe F Feg TAed? #2417

29

Compare and analyse the given data of India and China with valid reasons.

Country | Annual growth rate of | Sex ratio
population (2015) (per thousand males)
India 1.2 % 929
China 0.5% 941
OR

“India, China and Pakistan have many similarities in their development strategies.”
Elaborate.

qY RO Hige 3R AR et & T 1T 3HTehsT hr Joler 3R Taervor Y|




e STAHET Y AT IECECEIC]
g &Y (2015) (9Ifer G )
ARG [1.2% 929
Eio 0.5% 941
312rar

"I, DT 3R TrfrEareT i g Efaat & 3 gAEan g1 [Jear & gHsT|

30 | Give a brief explanation on the importance of Expenditure Giving on the Job- training.
el & RTeT TFNETOT N T I & HAged I Ueh Fiared [Gavor Gioid |
31 | (i) What is outsourcing?
(i) Why is India a favourite destination for outsourcing?
(iii) What advantage does India get by providing outsourcing to other countries?
OR
Briefly explain the following objectives of five year plans in India.
(i) Self reliance
(i) Equity
(i) STEIYTIOT FAT g2 ‘ .
(if) STETITIOT & foIT AR THEIGT TUT FT 62
(iii) 37T S2AT T TEIUTIUT TGTe el T R T FIT AT BT 52
3rydar
R F JaaulT A3t & Arafaf@d 3ggeat i arg 7 carear fifau|
(i) 3TcaAfaAsRar
(i) HHATAATI
32 | Compare and analyse the given data of India, Pakistan and China with valid arguments.

Structure of Growth- India, Pakistan and China

Sector % Share in GDP % Share in Employment
India Pakistan | China | India | Pakistan China
Primary 15.4 24.4 7.9 47 423 27.7
Secondary 231 19.1 40.5 22 22.6 28.8
Tertiary 61.5 56.5 51.6 31 35.1 43.5

A TR oh ATY HR, Tiehectlel 3R et o T 1T 3HTehsT hl Jofell 3R faeeisor Y|
TYhrE FT TEAT- AR, Iihedrs 3R A=t

SEC Sy 7 % Reaery AR H % Bedery
AR ClETSSICH AT AT ClETSSICH HeT

grafAs 15.4 24.4 7.9 47 42.3 217




gfadas 23.1 19.1 40.5 22 22.6 28.8

GRIRED 61.5 56.5 51.6 31 35.1 43.5

C
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.(i) “Women in rural areas are ready to work even at low wages.” Comment.
(ii) There is a mismatch between GDP growth and employment growth in India. How do
you justify this statement?

OR
(i) Do you agree with the view that the use of public transport in place of personal
transport reduces environmental degradation?
(ii) Study the given picture carefully and answer the following questions.

a. WhICh enwronmental problem is shown by thls plcture’?
b. Name the chemicals responsible for this problem.
c. What are the harmful effects of this problem?

(i) "ATHIOT &7 H ATYSATT o dcfel TR T 1A el & folT AR 1" feoaohy Fifsu)
ggwﬁahﬁa;ﬁamﬂwagﬁrasmwaﬁahmsvmaﬁmwm

3rear
(i) FT 3T 57 fAUR & T@eAd ¢ & e IRagd & T W ardeiiaes alkagsT &1 39T
ITaROT o §TX0T T haf T 6?2

(i) f&w 31T Ry a1 eareTgden 3reaae &Y 3R Aeafaf@d weet & 3w &



https://www.google.com/search?q=ozone+layer+depletion&client=tablet-android-samsung-nf-rev1&prmd=ibnv&sxsrf=ALiCzsawbwWL6l9Et807NoNu5Z-m_89odA:1664210823220&source=lnms&tbm=isch&sa=X&ved=2ahUKEwju6cu39LL6AhW-gtgFHaJDDOAQ_AUoAXoECAIQAQ&biw=800&bih=1280&dpr=1.5#imgrc=fhqZl07hfvzWkM
https://www.google.com/search?q=ozone+layer+depletion&client=tablet-android-samsung-nf-rev1&prmd=ibnv&sxsrf=ALiCzsawbwWL6l9Et807NoNu5Z-m_89odA:1664210823220&source=lnms&tbm=isch&sa=X&ved=2ahUKEwju6cu39LL6AhW-gtgFHaJDDOAQ_AUoAXoECAIQAQ&biw=800&bih=1280&dpr=1.5#imgrc=fhqZl07hfvzWkM

Source;https://www.google.com/search?qg=: ozone+|ayer+depletlon&cllent tablet-android-samsung-nf-rev1&prmd=i |bnv&sxsrf ALiCzsawbwWLBI9Et807NoNu5Z-m_890dA:166421082
3220&source=Inms&tbm=isch&sa=X&ved=2ahUKEwju6cu39

a. ag%qﬁmmﬁ@umﬁa&ﬁm%?
b. 0 THEAT & TV IeRer Iiareh gerdf & =14 faf@u|
C. U GHEIT & glieIohReh THT FIT &2

34

(a)What are the Advantages of the Small Scale Industry?
(b) “The British intended to achieve some objectives through their policies of
infrastructure.” Explain the given statement.

() OTE 3EAMIT & FAT TH §7?
(b)"ﬁsﬁmmﬂwmmaﬁrm;ﬂﬁm%mmﬁwsﬁmﬁwm
AT|" T ITT 2T Y s HifFv|



https://www.google.com/search?q=ozone+layer+depletion&client=tablet-android-samsung-nf-rev1&prmd=ibnv&sxsrf=ALiCzsawbwWL6l9Et807NoNu5Z-m_89odA:1664210823220&source=lnms&tbm=isch&sa=X&ved=2ahUKEwju6cu39LL6AhW-gtgFHaJDDOAQ_AUoAXoECAIQAQ&biw=800&bih=1280&dpr=1.5#imgrc=fhqZl07hfvzWkM
https://www.google.com/search?q=ozone+layer+depletion&client=tablet-android-samsung-nf-rev1&prmd=ibnv&sxsrf=ALiCzsawbwWL6l9Et807NoNu5Z-m_89odA:1664210823220&source=lnms&tbm=isch&sa=X&ved=2ahUKEwju6cu39LL6AhW-gtgFHaJDDOAQ_AUoAXoECAIQAQ&biw=800&bih=1280&dpr=1.5#imgrc=fhqZl07hfvzWkM
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1 (d) D-(iv) 1
2 | (b)1—(c),2—(b) 1
OR
a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation

of Assertion (A). 1
(b) 1—(c), 2—(b)
3yar

a) 31TAHUA (A) 3R HROT (R) =it T g 3R FROT (R), 31THFUA (A) Fr Ter I g

3 | (a) Greater than 2 1
(a) 2 § 31O

4 | c) Supply, improvement 1
c) 9fdt, gur

5 [(¢) C-(iii) 1

6 | (d) All of the above 1
(d) 3T T

7 | b) Statement 1 is false and statement 2 is true 1
b) YT 1 T & AN FUT 2 WA G

8 | (b) B-(ii). 1

9 | ¢) Rise in Supply of credit by the commercial banks, Money Circulation will increase. 1
¢) AU dehl SaRT WG T el & Feier, Har Heolel H geier gl

10 | b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct 1

explanation of Assertion (A).




b) 31fRHU (A) 3R FROT (R) AT T § 3R FROT (R), 31TRFHUT (A) Fr T carear 81 gl

1"

Banker to the Government : Central Bank is a Banker, Agent and Financial Advisor to the
Government. As a Banker it makes payment and receives payment for the Government. It
advances loans to the Government. As an Agent to the Government it buys and sells
securities on behalf of the Government. As an Advisor to the Government it helps the
Government in making policies to regulate the money market. The Central Bank also has
responsibility for managing the public debt.

OR

With the help of money two participants can participate in exchange of goods and
services. For instance, If Ram has to buy shoes then he can do so by giving money to the
shopkeeper in exchange for shoes. But in the absence of money, Ram would have to
search for someone who is willing to sacrifice shoes in exchange of what Ram is willing to
give. Therefore, money resolves the issue of double coincidence of wants.

TSR FHT dh: FeT Sob TIHR HT Teh sy, Toie 3R o aomgaR &1 T s & FT & I
THR & T 3T aar § 3R ETATeT U hddl &1 Ig TIHR KT Yeld Hidr g
TR & Tole & &7 H Ig WHR $T 30T T vfaufaat Fr @l 311 9 awar &1 K &
HARHR & §T 7 T§ TSR P AGT TR P AAAAT e & [T AT Sl 7 Hag
W%léﬁaﬁa‘méawmaﬁawasmaﬁraﬁmm%l

HeT T HegrIdr & ar gfasme, Wﬁﬁh@ﬂ}ﬁ%%%ﬂﬁﬂmﬁuﬁ%lm%
%vuﬁmﬁaﬁ@ﬂaﬁ%ﬁgglwaﬁaﬁéamﬁmwwmmm
ST & 37T H, TH I AT 08 ST el heatt IOl ST I T S IEe] &aT aTgell &
mga@rﬁaﬁaﬁaﬁéma’nzmﬁv HET HTALASHAT & GIER AT T FHEAT T GATUIT
A g

12

(i) Real GDP measures economic growth more correctly.Reasons: Real GDP will increase
only if the output of goods and services produced in the economy is increasing. Thus, Real
GDP is a better indicator of economic growth and welfare of people of the country than
Nominal GDP as it is not affected by changes in general price level.

(ii) The welfare of people must have decreased as it will decrease in per capita availability
of goods and services in the country.

(i) areataes STET 3fYes e o 31T TEHaT & ATIAT & | HROT: GEATAH SATSdT Joit
Tl ST 3regaedT & ScUTied aeg3ii 3R Aa13i T 3cdiee ¢ 6T 81| $H YK, A deh
Hehel TRe] 3cUTE;, Flfgeh Hevel B[ jcqld\aﬁ'd(ﬂdl H 21 & oent & 31 [ 31T FHeamor
ﬁmﬁmwmm%wﬁmﬁwwwﬁmﬁwﬁaaﬁm%l
(u)mﬁ#m#mmmwﬁ;méﬂﬁaﬁaﬁmwmﬁﬁw

3T dT H T 3Tl

1.5

1.5
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Given, Autonomous Investment= %360

Marginal Propensity to Save (MPS) =

Equilibrium Level of Income (Y) = %1,400

Marginal Propensity to Consume (MPC) = 1- MPS = 1-0.3=0.7
At the equilibrium Level, Y = C+ |

or, Y =c +MPC (Y) + |

1,400 = c + 0.7(1,400) + 360

1,400 = c + 980 + 360

1,400 = c + 1,340

¢ =1,400- 1,340 = 60




The autonomous consumption = %60.

OR
During depression, the economy faces a deficient demand situation. To correct this
situation,the government takes various fiscal measures. Increase in government
investment expenditure is the principal instrument to correct the deficiency in demand.
Increase in government investment expenditure acts as a pump priming when the
inducement to invest is low, owing to deficiency of demand. It breaks the vicious circle of
‘low demand-low inducement to invest-low production-low income-low demand’. The
economy is pulled out of the state of depression. The GDP growth accelerates in response
to increase in AD, triggered by increase in government investment expenditure.

e I §, Taraa faaer = 2360
AT s IgfT (MPS) = 0.3, 31T &I HJeleT TR (Y) = 1,400
WWW(MPC)—1 MPS = 1-0.3=0.7
Aol TR W, Y = C+ |
AT, Y = ¢ +MPC (Y) + |
1,400 = ¢ + 0.7 (1,400) + 360
1,400 = ¢ + 980 + 360
1,400 = ¢ + 1,340
c=1,400 — 1,340 = 60
T 3UHTET = 360 |

372rar
HEY & e, 3rcaarar & AT H et fr UfS 1 Greet Fear usar g1 39 ufa 1 &
el o ToIT TR Aot AT YR &l § | AT H AT hl G i & olT ALDHRT
forder o & gefer yow e 8| SR [ e37 & gefey, HiT el & HROT AT A
ﬁﬁ@wwaﬁwwwaﬁmmwﬁa:mﬁaﬁaﬂw%lwwmﬁmr%
oI a7 eI - ScTeat-ohal 3T /3T 3 goersh 1 Algal &1 Jeaaea # ) H1
Feafar & aree fRsprorar 81 avanrlt faer s 7 gefer & swRoT @y A 7 gefer Hr wfafwar J
Hehel B 3c1G 1 J& 4 3 cToll 3Te &
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i): Fiscal Deficit = Total expenditure — Revenue receipts — Non-debt capital receipts =
3,75,223 — 2,31,745 — 15,164 — 12,000

= Rs. 1,16,314 billion.

i) Revenue Deficit = Revenue expenditure — Revenue receipts

= 3,10,566 — 2,31,745

= Rs. 78,821 billion.

i) Primary deficit = Fiscal deficit — Interest payments

=1,16,314 - 1,12,300

= Rs. 4,014 billion.

i) ITSTERIIY ©TET = ol T - e AT - IR-FH0T GoATeT ricear
=3,75,223 - 2,31, 745 15,164 - 12,000 = %. 1,16,314 3d|

ii) ISTET ©TeT = IS oY - JoTed TTfeaar

= 3,10,566 - 2, 31,745 =%. 78,821 34|

iii) ITAfAR T = TSI HTeT - SATST Tl
=1,16,314-1,12,300 = %. 4,014 31|
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(A) Exchange rate in a free exchange market is determined at a point , where demand for




foreign exchange is equal to the supply of foreign exchange.

YA

S$

/

Rate of Exchange
o
©

g [
8/%{

D$
ol —» X
Quantity demanded or
supplied [US Dollar]

In the diagram, on the OX axis Quantity demanded and Quantity Supplied of foreign
currency (US$) is given. On the OY axis foreign exchange rate is given which shows how
many rupees are required of 1 US dollar.

The demand curve (D$) is downward sloping. This means that when foreign exchange rate
increases less foreign exchange is demanded.

The supply curve (S$) is upward sloping. This means that when foreign exchange rate
increases then supply for foreign exchange also rises.

The demand curve (D$) intersects the supply curve (S$) at point E , which determines
equilibrium foreign exchange rate OP$ and equilibrium quantity of foreign exchange OQS$.
(B) a) Recorded as visible items in the current account because it is simply an import of a
good. Recorded on the debit side because it leads to outflow of foreign exchange.

b) Recorded in the capital account because it is a transaction in assets. Recorded on credit

side because it leads to inflow of foreign exchange.
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(a) Government Final consumption expenditure = (i)- [(x)+(ii)+(v)+(ix)]+(vi)+(xi)




=71,000 —(40,000 + 10,000 + 1,000 + 5,000) + 2,000 + 3,000

= ¥ 20,000 crores
(b) (i) It is a part of the domestic income of India because the Indian embassy in Japan is a
part of the domestic territory of India.
(ii) It is a part of the domestic income of India because the foreign bank is located in the
domestic territory of India.

OR

(a) Impact of rising sale of petrol and diesel cars pm gross domestic product- GDP will
increase because there is increasing demand of petrol and diesel cars in the big cities and
to fulfil this increasing demand , the companies have to produce more and have to
increase their level of production which will lead to increase in GDP.
Impact of rising sale of petrol and cars on welfare — The increased sale of petrol and diesel
cars in big cities is continuously increasing the level of pollution in big cities and is turning
out to be a life threat for the people living there. This high level of pollution is making
people suffer with many vulnerable diseases like asthma, heart diseases, lung problems,
cancer, respiratory diseases, etc. Thus reducing the welfare of the people.
(b) Income is a flow concept because it is measured per unit of time period, viz., and
income per month or per annum. Flow of income is circular because, stemming from the
production of goods and services by the producing units, it translates into income of the
households (as rewards for their factor services to the producing units), and income
translates into expenditure on the goods and services produced in the economy. Thus,
production (value addition), income generation and expenditure propel each other to form
a circularity, which is called 'Circularity of Income'.

(a) TXPRT 37T ITHIT ST = (i)- [(X)+(ii)+(v)+(ix)]+(vi)+(xi)

=71,000 -(40,000 + 10,000 + 1,000 + 5,000) + 2,000 + 3,000

= 20,000 13
(b) (i) TG AR T T A H ATTA ThaT ST Fifeh ST H [EU HRAT girard HR
T Tl AT T Tk R B
(ii) TG R T e 37T & AT foram Sean i faeh o s & el W & & g

3rear

(a) 9ETer 3R SioTel SHRT Y Sl TshT T Hehel B 3cUTG T THT - SIS & gefer gl
Fifeh 99 AR 3 USTel 3N SIsTel ShRT T AT §¢ 6T & 3N TH Tl HIIT hl I el & felv
STl T 3T ScUTEsT el BT N 3T ScdTeet & TR T TGIeAT GIaT foTqH Hehol B[
3cure H gefer gl
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(b) 31T Ueh YdTg JTHRUT § FAiTeh 3§ AT 1 AT $r @i & AT S1ar § J9- 37 ufa
HATE AT 9T a¥ | 31T T IATg Tehid g Fi1oh, 3cATGeh ShIST GaRT IEd3iT 3R Fa13it &
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ST Teh AR 1 Ueh Tsh Fllel oh Tl URA d &, TS '3 BT wshor ahgT S & |
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i) No the economy is not in equilibrium in this situation.




i) This is the situation when AD>AS.

iii) ADJUSTMENT MECHANISM :

AD > AS (Ex-ante AD > Ex-ante AS) :- If AD > AS , flow of goods and services in the
economy tends to be less than their demand. As result :

(a) The existing stocks of the producers would be sold out and

(b) The producer would suffer the loss of unfulfilled demand.To rebuild the desired stocks
and avoid the loss of unfulfilled demand.

(c) The producer would plan greater production. AS would increase to become equal to
AD.

iv) Economy is in equilibrium at point E where AD=AS

i) 76T, 39 ey 3 srdfeaaear dqere 7 781 §1

i) Ig ag Ut § 579 AD>AS.

iii) FHATIIST

AD > AS (9d- fa1faie AD > qa-faifaia AS) :- Ifg AD > AS, df 38 e # srdfegaear 7

Wﬁﬁ?@ﬁmﬂmmﬁmﬁmm%lw
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qﬁﬁﬂﬁwmécqldd FI AISTAT TAN | SH YR THI ATIT AD & SR gled o Tl JHIT
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Section B - Indian Economic Development

18 | (d) (iii) (i) (i) (iv)
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20 | (b) Structural unemployment
(b) TRTATCHS SISTIT
21 | 37X (C) 6-14
22 | C) Statement 1 is true and statement 2 is false
C) H¥T 1 AT ¢ 3N FUF 2 3T 5
23 | (c) Qand R only
OR
B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation
(c)Haer Qand R
yar
B) 31f&¥eT (A) 3R &ROT (R) aldAl T & 31K HROT (R), THRUT (A) Fr T&F carear w6l gl
24 | 33 (C) (ii), (i), (iii), (iv)
25 | d) procurement




d) agelr

26

c) Statement 1 is true and Statement 2 is false
3 ) HYUA 1 T § R FUA 2 3T &
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b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A).

b) 31fR&HUT (A) 3R FROT (R) =T T § 3R HROT (R), 31THFHUT (A) Fr T carear 61 g |
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Problems in Agricultural Marketing

a. Manipulation by Big traders(They use different weights at the time of sale and purchase)
b. Lack of Market Information

c. Lack of Storage Facilities

d. Lack of transport facility

e. Multiplicity of middleman

f. Lack of Credit Facility.

FY fauure & gHAEITT

a. I3 STATRAT GaRT gTh (I Torshr 3R TG o TAT TI97-37619T IaTel T 39T X o)
b ST T ST=TShIY ST 37T

C. $TSRUT GIAEM3iT AT 31377q

d. gRageT giaer &1 31

e. feaiforat &1 sgorar

f. |G AT T 31317
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a) The given data shows that China could arrest its annual population growth rate with the
implementation of some stringent measures in late 1970’s like the introduction of one child
norm. This step has been instrumental in controlling the growth of population in China.
India stands virtually more than double to China at its annual population growth rate of
1.2% as compared to China’s annual population growth rate of 0.5% pa.
b) The social dynamics of both the countries are similar to each other; sex ratio is low and
biased in both the countries due to preference for male child. Whereas, India stands at 929
females per 1000 males, China is not far ahead at 941 females per 1000 males.

OR
India, China and Pakistan have many similarities in development strategies which are as
follows
(i) All the three countries had started planning their development strategies in similar ways.
India announced its five year plan in 1951-56, while Pakistan announced its first five year
plan in 1956, which is called ‘Medium Term Plan’ China announced its first five year plan in
1953.
(i) India and Pakistan adopted similar strategies such as creating a large public sector and
raising public expenditure on social development.
(iii) Till the 1980s, all the three countries had similar growth rates and per capita incomes.
(iv) Economic reforms took place in all the three countries, reforms started in India in 1991,
in China in 1978 and in Pakistan in 1988.

a) feT 91T 3ierst & gaT Terdl § foh et 39t aTfer STereear gefer &T 1 1970 & g &
mﬁwﬁ%mﬁemmﬁﬁwﬁﬂ%ﬂw%muﬁmﬁaww%l




g TheH Wiel H SIAHET Jeitl i AT et H TEreh T 8| HRA T ali¥eh SToIaear g o
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ISt 1 NoT fY, fSR 'FJege afr ST Fgl AT &, DT oF 1953 F 319+ Ugoll TaasiT

ISTT ST BYoTT |

(ii) AR 3R IITFREAT o AT IOTHATAIT IS S foh Ueh §3T AT TeAeh &1F Fallell 31

FrATTSS [P 9T rdeifae T TeT=T|

(iii) 1980 & &2reh deh, =it &2it Y Terre e 31T wiy cafed 3ma gamET oY

(iv)eﬁa‘raeﬁﬁaqﬁéﬁagmgu, HRA 7 1991 #F, T 7 1978 & 3R urforere 7 1988 &

YR Y& Tl
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Expenditure on Giving on the Job- training: On-the-job- training helps workers to sharpen
their specialized skills. It enables them to raise the level of their efficiency and productivity.
Firms provide training to its employees in following ways: Workers may be trained in the
firm itself under the supervision of a skilled worker. . Workers may be sent outside the
office campus for training. Firms are always encouraged on the job training programme
because the benefit of such training is more than the cost of it.

Al & ERreT UfeTorT 9T WT: AtedT & a1 UfRreToT, SRS r 319er [T Hiere Y sgr 7
HEE HIAT ¢ | TG 3o HUeAT GATAT 3R ScUTGhHdT & TAL PT TGTeT H T&TH ToATdT & | BH It
FAATRAT T AT alier T TfALTOT TeTe Fcr § TR Sl U HAT FHIARY T STRY
3 T 3 & wTRIET faT off eha §1 FaaTRat Y wfRIToT 3 forw shrafer aRER & aTE% Sl
ST ThT & BAE! T Al TFALTUT I U gHLT Wedrfed fhaT STar § Fifh 38 Rg &
GRAETT T AT ST oI9TT 37T &
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(i) It is an outcome of the process of globalization. In outsourcing, a company hires regular
service from external sources, mostly from other countries, like legal advice, computer
services, advertisement, health, teaching etc.
(i) India provides cheap, skilled and accurate labour. India has favourable govt.policies for
MNCs. Fast Growth of IT Sector in india.
(iii) Rise in employment & GDP.
Rise in Foreign exchange reserves.
Rise in FDI.
Rise in worthiness and credibility of India.

OR
(i) Self reliance:-It refers to utilization of a country's resources in order to promote
economic growth and modernization without using the resources imported from other
countries. It means avoiding imports of those goods which could be produced in India
itself. It is necessary in order to reduce our dependence on foreign countries in order to
safeguard the sovereignty of our country and unnecessary foreign interference on our
policies.




(i) Equity:- It means equal distribution of income and wealth among the societies. It is
important to ensure that the benefits of economic development should reach the poor
sections of the society as well instead of being enjoyed by the rich. It is necessary that
every person of a country should be able to meet their basic needs such as food,
education, and health facilities in order to reduce inequality.
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Ans From the following table, it is observed that all the three countries have experienced a
noticeable structural change as all have shifted to the secondary and tertiary sector. China
is relying more on the secondary sector whereas India and Pakistan are relying more on
the tertiary sector. In case of employment, the primary sector provides maximum
employment opportunities in India and Pakistan and Tertiary sector in the case of China.
However, China is showing great signs of becoming developed countries in the world.
Expansion of the service sector in India and Pakistan is due to globalisation i.e. faster
integration with the global economies. Thus, we can analyse from the given table that all
the three countries are going towards the path of development but China has shown better
performance than other two countries.

afafaa arfesr @, a8 2ar a1 § i a1 g2t & U Sea@aa GXaaTcHS IRade T
W%m%w&aﬁmmsﬂ?ammﬁxmﬁméﬁﬁaaﬁ?ﬁwm
R 3110 R ¥ STafh 9 3R TRAEdTT gdias &7 W 3110% @R §1 Ao9IR & A &
TS 8T AR 3R TR 31 31fOFaH VTR & TR Ut T & 3R AT & AFer 3
e &7 TTARAH ASTITR & TR el Il & | gTediieh, et gievar 7 A oer geiat &
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.(i) The given statement is correct because of the following reasons
(1) There is widespread poverty in rural areas. Poverty compels the women in rural areas
to accept low wage occupations.




(2) Women in rural areas are averse to migration. They are reluctant/unwilling to migrate to
urban areas for jobs. Owing to the lack of education, they are not even capable of finding
jobs outside rural areas. Accordingly, they prefer to be engaged in farm and non-farm
activities but in the rural areas only.
(i) GDP growth in India happens to be faster than employment growth. In other words,
even when production activity is expanding, job opportunities continue to be low. This is a
situation of 'jobless growth'. This occurs when we rely more and more on labour- saving
Western Technology. Such a technology (using more of capital and less of labour) does not
suit the needs and means of a country where unemployment is an alarming social
challenge. But, given the fact that the country lacks investment capital, we are forced to
depend more and more on FDI. Foreign investment in India is linked with foreign
technology which is efficient but the one which uses less and less of labour.Reliance on
FDI cannot be minimized. Implying that the reliance on labour-saving western technology
cannot be minimized. Accordingly, a mismatch between 'GDP growth' and' employment
growth' cannot be so easily corrected.

OR
()t is absolutely correct that the use of public transport inplace of personal transport
reduces environmental degradation. First, it reduces environmental pollution. Because,
when we switch over from personal transport to public transport, the number of vehicles on
the road is significantly reduced.
This reduces air pollution as well as sound pollution. Second, we economize the use of
non- renewable energy (petrol and diesel) which avoids environmental degradation.
(i) a. Ozone Layer depletion

b. It refers to destruction of ozone in the ozone layer, due to the presence of chlorine
from man made chlorofluorocarbons and other forces.

c. The thinning of the ozone layer allows more ultraviolet (UV) radiation to pass through
it which then strikes the earth. These cause the following harmful effects on man, animals,
and plants: - Skin cancer. - Damage to the eyes also increases the incidence of cataract
disease in the eyes.
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(a) It creates Employment opportunities because it uses labour intensive techniques of
production. Small scale industry helps in providing regional equality, as it is started in
villages and towns.
These industries need less capital to start production than large industries.
These industries are established by middle and low income people, it raises their income
and promotes income equality.
These industries use small machines and plants so these can be shift easily from one
place to another. It means they have location flexibility.
(b) This is a true statement. The British intended to achieve the following objectives
through their policies of infrastructure.
(i) Expansion of the Indian market for the British products through the railways
expansion.
(ii) To handle export of raw material to Britain and import of finished goods from
Britain through the development of ports.
(iii) To increase administrative efficiency through the development of post and
telegraphs.
(iv) To facilitate transportation of raw material from different parts of the country to
the ports through the developments of roads.
Thus, it is clear from the above points that they were having personal objectives for
which they were making policies and developing infrastructure.
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